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H| 30 A7I. KGCAMZ AL vs GSEE|A (CHH, 2019.11.02, 16:00~18:15)
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H| 30 A7I. KGCAMZ AL vs GSEE|A (CHH, 2019.11.02, 16:00~18:15)
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KGCOIAHZ AL VS GSHHA
574 No Block 1274
3071 7 07H 1 Block 2671 7 274
10074 / 77H 2 Block 10271 7 874
071 7 07H 3 Block 671 / 07
rg2R7 oY ¥ AR A/ 4B s
> SE ME ME Al &0 E27{0f [HE SH7|F Hw
KGCAMSAL 4 Vs GSZEA 34
171 7 071(00.0%) No Block 170 7 07H(00.0%)
207 7 67H(30.0%) 1 Block 2270 7 1371(59.1%)
8771 / 387H(43.7%) 2 Block 837 / 387H(45.8%)
670 / 67H(100.0%) 3 Block -
*SAMNE /43 (838)
> MEQ 37 22
> KGCRIAZ A
E AE %53 AIZERL ol =42
MBS 8(14.8%) 15(27.8%) 5(09.3%) 1(01.9%) 1(01.9%) 24(44.4%)
MNEZ2| 37(61.7%) 16(26.7%) 6(10.0%) 0(00.0%) 0(00.0%) 1(01.7%)
oA 45(39.5%) 31(27.2%) 11(09.6%) 1(00.9%) 1(00.9%) 25(21.9%)
*SANE (SHREH8)
> GSZEA
E AE %53 AIZERL ol =42
MIET 2| 6(18.2%) 10(30.3%) 2(06.1%) 2(06.1%) 0(00.0%) 13(39.4%)
MNEZ2| 42(57.5%) 23(31.5%) 3(04.1%) 4(05.5%) 0(00.0%) 1(01.4%)
oA 48(45.3%) 33(31.1%) 5(04.7%) 6(05.7%) 0(00.0%) 14(13.2%)
P BAMNE (BHEEYR)
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H| 30 A7]. KGCUM T AL vs GSHEIA (CHH, 2019.11.02, 16:00~18:15)

b M4 BXHE B4 HBE (259 A0 SH 44

D> GSZHA (BX)

> 2 =9

= ME PN

ol 2y &3 s b B7l | SHME HAE sus s3 =K S A%
1 GSZHA 12 4 0 4 12 2 6.000 347 283 1.226 45
2 a4y 7 2 2 4 8 7 1.143 344 312 1.103 11
3 e Fa= 6 2 1 3 6 4 1.500 223 207 1.077 15
4 KGCRI&tS A 3 1 3 4 7 1 0.636 356 399 0.892 11
5 St 2T A 3 1 3 4 5 9 0.556 286 331 0.864 214
6 IBK7| 23 2 1 2 3 3 8 0.375 215 239 0.900 214
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